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oooo

Q=13881230000
P = 5105100 + 388123

2P + 1 =2(510510n + 388123) + 1 = 10210201 + 776246 + 1 = 1021020n + 776247
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0000010210200 20 2003,5,7,11,13,17000000 10000000

776247 = 3 x 353 x 733 x 1

good
2P + 1 = 3(340340n + 258749)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=13881330000
P = 510510n + 388133

2P + 1 = 2(510510n + 388133) 4+ 1 = 10210201 4 776266 + 1 = 10210200 + 776267
0000010210200 20 2003,5,7,11,13,17000000 1000000

776267 = 776267 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 265757

gboboobogobooboboobboobbooobuoonooboon

Q=3881390000
P = 510510n + 388139

2P + 1 = 2(510510n + 388139) 4 1 = 10210201 + 776278 4+ 1 = 10210201 + 776279
0000010210200 20 2003,5,7,11,13,17000000 10000000

776279 =7 x 43 x 2579 x 1

oooo
2P + 1 = 7(145860n + 110897)

ooooooobogovyooooOoooOoobooOoooOOobOo0oDbDOooDbDOoobDbOODOoOoDbboODboO
goo

Q=13881470000
P = 510510n + 388147

2P + 1 =2(510510n + 388147) + 1 = 1021020n + 776294 + 1 = 1021020n + 776295

0000010210200 20 2003,5,7,11,13,17000000 10000000

776295 =3 x 3 x5 x 13 x 1327 x 1

oooo
2P + 1 = 195(5236n + 3981)
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goog

Q=13881510000
P = 510510n + 388151

2P 4+ 1 =2(510510n + 388151) + 1 = 1021020n + 776302 + 1 = 1021020n + 776303

0000010210200 20 2003,5,7,11,13,17000000 10000000

776303 = 11 x 70573 x 1

oooo
2P + 1 = 11(92820n + 70573)

o0oobO0oobolnoooooob00oobOoOoo0bO0oo0bOOo0oboOobobDoOooDbOoboDbOon
good

Q=13881530000
P = 510510n + 388153

2P 4+ 1 =2(510510n + 388153) + 1 = 10210201 + 776306 + 1 = 1021020n + 776307

0000010210200 20 2003,5,7,11,13,17000000 10000000

776307 =3 x 7 x 7 x 5281 x 1

oooo
2P + 1 = 21(48620n + 36967)

go0odoOoboOo210000000ob0bOoboo0oo0oo0oDOobDOo0oDOobDOobooOoboOooog
good

Q=3881590000
P = 510510n + 388159

2P + 1 = 2(510510n + 388159) + 1 = 1021020n + 776318 + 1 = 10210201 + 776319
0000010210200 20 2003,5,7,11,13,17000000 10000000

776319 = 3 x 23 x 11251 x 1

good
2P + 1 = 3(340340n + 258773)

g0obobooo30bobobooooobobooDoobobobDoboDobooobUobDOooDoo
goo

Q=13881630000
P = 510510n + 388163
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2P + 1 =2(510510n + 388163) + 1 = 1021020n + 776326 + 1 = 1021020n + 776327

0000010210200 20 2003,5,7,11,13,17000000 1000000

776327 = 776327 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 265817

gboboobogobogoboboobboobooobooooboon

Q=1388169 0000
P = 5105100 + 388169

2P + 1 = 2(510510n + 388169) 4 1 = 10210201 + 776338 4+ 1 = 10210201 + 776339
0000010210200 20 2003,5,7,11,13,17000000 10000000

776339 = 17 x 45667 x 1

oooo
2P + 1 = 17(60060n 4 45667)

gooooooboowwooooooobOobooooobooooDobOooDOobDOoboooboOooboo
good

Q=3831770000
P = 510510n + 388177

2P + 1 = 2(510510n + 388177) 4+ 1 = 10210201 + 776354 + 1 = 10210201 + 776355
0000010210200 20 2003,5,7,11,13,17000000 10000000

776355 =3 x5 x 73 x 709 x 1

oooo
2P + 1 = 15(68068n + 51757)

oooooooolibooooboooooboboooboobooboobooooobOoobOoo
good

Q=13881810000
P = 510510n + 388181

2P 4+ 1 =2(510510n + 388181) + 1 = 1021020n + 776362 + 1 = 10210201 + 776363

0000010210200 20 2003,5,7,11,13,17000000 10000000

776363 = 7 x 110909 x 1
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2P + 1 = 7(145860n + 110909)

0000000070000 0D00D000O00ODOODOO0OOOODOODOODOODOO0OO0DOODOODODn
goo

Q=388183 0000
P = 5105100 + 388183

2P + 1 = 2(510510n + 388183) + 1 = 1021020n + 776366 + 1 = 1021020n + 776367
0000010210200 20 2003,5,7,11,13,17000000 10000000

776367 = 3 x 3 x 86263 x 1

oooo
2P + 1 = 3(340340n + 258789)

o00obOobooo30b0obobooooobobOooOoOobOOobOobDobDobooobOobOoobDOoo
goo

Q=3881870000
P = 510510n + 388187

2P + 1 = 2(510510n + 388187) + 1 = 10210201 + 776374 + 1 = 10210201 + 776375
0000010210200 20 2003,5,7,11,13,17000000 10000000

776375 =5 x5 x5 x6211 x 1

oooo
2P + 1 = 5(204204n + 155275)

obooboobooosOobUobbobOOobobo0obOobOobOobObOobUObDOobDOobO0bOOobOobDOobDoo
goo

Q=388189 0000
P = 510510n + 388189

2P 4+ 1 =2(510510n + 388189) + 1 = 1021020n + 776378 + 1 = 1021020n + 776379

oo000010210200 20 2003,5,7,11,13,17000000 10000000

776379 =3 x 137 x 1889 x 1

good
2P + 1 = 3(340340n + 258793)

gooooooOo3soUoboooooooboU0OoOoU0bOoUbDOoUobDOoUobDOUDbDOoobDbOUDbDoOoO
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Q=13882070000
P = 510510n + 388207

2P + 1 = 2(510510n + 388207) + 1 = 10210201 + 776414 + 1 = 10210200 + 776415
0000010210200 20 2003,5,7,11,13,17000000 10000000

776415 =3 x5 x 191 x 271 x 1

oooo
2P + 1 = 15(68068n + 51761)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
goog

Q=3882110000
P = 510510n + 388211

2P + 1 = 2(510510n + 388211) 4+ 1 = 1021020n + 776422 + 1 = 10210200 + 776423
0000010210200 20 2003,5,7,11,13,17000000 1000000

776423 = 113 x 6871 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 265913

gboboobooobooboboobboobboobooobooo

Q=3882170000
P = 510510n + 388217

2P + 1 =2(510510n + 388217) + 1 = 1021020n + 776434 + 1 = 1021020n + 776435

0000010210200 20 2003,5,7,11,13,17000000 10000000

776435 =5 x 11 x 19 x 743 x 1

oooOo
2P + 1 = 55(18564n + 14117)

oboooooos bbb boooboobooboobooooobOobobOoo
good

Q=3882310000
P = 510510n + 388231

2P 4+ 1 =2(510510n + 388231) + 1 = 1021020n + 776462 + 1 = 10210201 + 776463
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0000010210200 20 2003,5,7,11,13,17000000 10000000

776463 = 3 X 67 x 3863 x 1

oooo
2P + 1 = 3(340340n + 258821)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q =3882370000
P = 510510n + 388237

2P + 1 = 2(510510n + 388237) + 1 = 10210200 + 776474 + 1 = 10210200 + 776475
0000010210200 20 2003,5,7,11,13,17000000 10000000

776475 =3 x3x5xbxXxT7Tx17Tx29x1

oooo
2P + 1 =1785(572n + 435)

oooopbOooo1vshooobooooooboooobooooboooooooDOoboboooboo
googn

Q=3882430000
P = 510510n + 388243

2P + 1 =2(510510n + 388243) + 1 = 10210201 + 776486 + 1 = 1021020n + 776487
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

776487 = 3 x 47 x 5507 x 1

oooo
2P + 1 = 3(340340n + 258829)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=13882470000
P = 5105100 -+ 388247

2P 4+ 1 =2(510510n + 388247) + 1 = 1021020n + 776494 + 1 = 1021020n + 776495

0000010210200 20 2003,5,7,11,13,17000000 10000000

776495 = 5 x 155299 x 1

oooo
2P + 1 = 5(204204n + 155299)
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goo

Q=13882490000
P = 510510n + 388249

2P + 1 =2(510510n + 388249) + 1 = 1021020n + 776498 + 1 = 1021020n + 776499
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

776499 = 3 x 41 x 59 x 107 x 1

good
2P + 1 = 3(340340n + 258833)
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Q=13882530000
P = 510510n + 388253

2P + 1 = 2(510510n + 388253) + 1 = 1021020n + 776506 + 1 = 1021020n + 776507
0000010210200 20 2003,5,7,11,13,17000000 1000000

776507 = 776507 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 265997

gboobgobogobooboboobboobooobuooooboon

Q=3882590000
P = 5105100 + 388259

2P 4+ 1 =2(510510n + 388259) + 1 = 1021020n + 776518 + 1 = 10210201 + 776519
0000010210200 20 2003,5,7,11,13,17000000 1000000
776519 = 31 x 37T X 677 x 1
o000 10210200 000000000000
2P +1 =510510m + 266009

gboboobogobooboboobboobbooobuoonooboon

Q=3882610000
P = 510510n + 388261

2P 4+ 1 =2(510510n + 388261) + 1 = 1021020n + 776522 + 1 = 10210201 + 776523

134



0000010210200 20 2003,5,7,11,13,17000000 10000000

776523 = 3 x 11 x 23531 x 1

oooo
2P + 1 = 33(30940n + 23531)

obooboooo3dbooooboooooboboooboooboobooboboooobOoobOoo
good

Q=13882730000
P = 5105100 + 388273

2P + 1 = 2(510510n + 388273) + 1 = 10210201 + 776546 + 1 = 10210200 + 776547
0000010210200 20 2003,5,7,11,13,17000000 10000000

776547 =3 x 3 x 3 x 3 x 9587 x1

oooo
2P + 1 = 3(340340n + 258849)

gooooooOo3soooooooooboooooobOoobDoobDOoobOoUDOoOobDboUODboO
goo

Q=3882770000
P = 510510n + 388277

2P 4+ 1 =2(510510n + 388277) + 1 = 1021020n + 776554 + 1 = 10210201 + 776555
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

776555 =5 x 13 x 13 x 919 x 1

oooo
2P +1 = 65(15708n + 11947)

obooboogboes,000b0b0O00O0ObbOOCObOO0ODbDO0ODbDUOObDUODUOODbDObODbDOC
goog

Q=1388279 0000
P = 5105100 + 388279

2P 4+ 1 =2(510510n + 388279) + 1 = 1021020n + 776558 + 1 = 1021020n + 776559

0000010210200 20 2003,5,7,11,13,17000000 10000000

776559 = 3 x 7 x 36979 x 1

oooo
2P + 1 = 21(48620n + 36979)
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Q=13882910000
P = 510510n + 388291

2P + 1 = 2(510510n + 388291) 4 1 = 10210201 + 776582 + 1 = 10210201 + 776533
0000010210200 20 2003,5,7,11,13,17000000 10000000

776583 = 3 x 3 x 86287 x 1

oooo
2P + 1 = 3(340340n + 258861)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=13883010000
P = 510510n + 388301

2P 4+ 1 = 2(510510n + 388301) + 1 = 10210201 4 776602 + 1 = 1021020n + 776603
0000010210200 20 2003,5,7,11,13,17000000 1000000

776603 = 269 x 2887 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m 4+ 266093

gbbooggbogoboobbugobboobbooobuoonbagn

Q=23883030000
P = 510510n + 388303

2P 4+ 1 =2(510510n + 388303) + 1 = 10210201 + 776606 + 1 = 1021020n + 776607

0000010210200 20 2003,5,7,11,13,17000000 10000000

776607 =3 x 13 x 19913 x 1

oooo
2P + 1 = 39(26180n + 19913)

000000003 0oooo0ob00ooboooo0o0oo0bOOo0obD0o0obobDoOoDbOOooODbOon
good

Q=1388307 0000
P = 5105100 + 388307

2P 4+ 1 =2(510510n + 388307) + 1 = 1021020n + 776614 + 1 = 1021020n + 776615
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0000010210200 20 2003,5,7,11,13,17000000 10000000

776615 =5 x 7 x 22189 x 1

ooono
2P + 1 = 35(29172n + 22189)

ooooooOoosoooooooooobooooboboooobooooobobooooboOoooDobOn
oooo

Q=13883090000
P = 510510 + 388309

2P 4+ 1 = 2(510510n + 388309) + 1 = 10210201 4 776618 + 1 = 1021020n + 776619
0000010210200 20 2003,5,7,11,13,17000000 10000000

776619 = 3 x 3 x 86291 x 1

oooo
2P + 1 = 3(340340n + 258873)

goobOobooo3oboboboooooboboooOobobUobDobDobooobobobDoo
goo

Q=13883130000
P = 510510n + 388313

2P + 1 = 2(510510n + 388313) + 1 = 10210201 + 776626 + 1 = 10210201 + 776627
0000010210200 20 2003,5,7,11,13,17000000 1000000
776627 = 776627 x 1
0000 10210200000000000000
2P + 1 = 510510m + 266117

gbooboobooobooboboobboobbooboooboon

Q=3883190000
P = 5105100 + 388319

2P 4+ 1 =2(510510n + 388319) + 1 = 1021020n + 776638 + 1 = 1021020n + 776639

0000010210200 20 2003,5,7,11,13,17000000 1000000

776639 = 263 x 2953 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 266129
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Q=1388321 0000
P = 5105100 + 388321

2P 4+ 1 =2(510510n + 388321) + 1 = 1021020n + 776642 + 1 = 10210201 + 776643

0000010210200 20 2003,5,7,11,13,17000000 10000000

776643 =3 x 7 x 31 x 1193 x 1

oooo
2P + 1 = 21(48620n + 36983)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=3883270000
P = 510510n -+ 388327

2P + 1 =2(510510n + 388327) + 1 = 1021020n + 776654 + 1 = 10210201 + 776655

0000010210200 20 2003,5,7,11,13,17000000 10000000

776655 =3 x 3 x 3 x5 x11 x523 x1

oooo
2P +1 = 165(6188n + 4707)

oboobdobgolesobooooooobooboboboooobooobOobUobUobooooooo
good

Q=388337 0000
P = 510510n + 388337

2P 4+ 1 =2(510510n + 388337) + 1 = 1021020n + 776674 + 1 = 1021020n + 776675

0000010210200 20 2003,5,7,11,13,17000000 10000000

776675 =5 x 5 x 47 x 661 x 1

oooo
2P + 1 = 5(204204n + 155335)

ooooooooboso0ooooobobooooooobooooooobooOobobooooobbBbOoOn
ooo

Q=3883430000
P = 5105100 + 388343

2P + 1 =2(510510n + 388343) + 1 = 10210201 + 776686 + 1 = 1021020n + 776687
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0000010210200 20 2003,5,7,11,13,17000000 1000000

776687 = 23 x 33769 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 266177

gboobgobogobooboboobboobooobuooooboon

Q=23883510000
P = 5105100 + 388351

2P + 1 = 2(510510n + 388351) 4+ 1 = 10210201 + 776702 + 1 = 10210201 + 776703
0000010210200 20 2003,5,7,11,13,17000000 10000000

776703 = 3 x 89 x 2909 x 1

ooo0o
2P + 1 = 3(340340n + 258901)

gbooboobooo3obobooooooboboooobOobobooboDoboboobOobOobooo
goo

Q=3883570000
P = 510510n + 388357

2P + 1 = 2(510510n + 388357) 4+ 1 = 10210201 + 776714 + 1 = 10210200 + 776715
0000010210200 20 2003,5,7,11,13,17000000 10000000

776715 =3 x5 xH3 x 977 x 1

oooo
2P + 1 = 15(68068n + 51781)

oooooooolooooooooooooooooooboooooOoboooooboOoooDoobOn
oooo

Q=3883610000
P = 510510n + 388361

2P 4+ 1 =2(510510n + 388361) + 1 = 1021020n + 776722 + 1 = 1021020n + 776723

0000010210200 20 2003,5,7,11,13,17000000 1000000

776723 = 103 x 7541 x 1

OO000 10210200 000000000000

2P 4+ 1 =510510m + 266213
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Q =3883630000
P = 510510n + 388363

2P + 1 =2(510510n + 388363) + 1 = 1021020n + 776726 + 1 = 1021020n + 776727

0000010210200 20 2003,5,7,11,13,17000000 10000000

T76727 =3 x 3 x 7 x 12329 x 1

oooo
2P + 1 = 21(48620n + 36987)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=23883690000
P = 510510n + 388369

2P + 1 =2(510510n + 388369) + 1 = 1021020n + 776738 + 1 = 1021020n + 776739

0000010210200 20 2003,5,7,11,13,17000000 10000000

776739 = 3 x 19 x 13627 x 1

oooo
2P + 1 = 3(340340n + 258913)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=3883730000
P = 510510 + 388373

2P 4+ 1 =2(510510n + 388373) + 1 = 1021020n + 776746 + 1 = 1021020n + 776747

0000010210200 20 2003,5,7,11,13,17000000 10000000

776747 = 17 x 45691 x 1

ooono
2P + 1 = 17(60060n + 45691)

oooooooolyoooooooooobooooobooooOoboOoooOObOOooobObOOooDbOn
oooo

Q=3883790000
P = 510510 + 388379

2P 4+ 1 =2(510510n + 388379) + 1 = 1021020n + 776758 + 1 = 1021020n + 776759
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0000010210200 20 2003,5,7,11,13,17000000 1000000

776759 = 776759 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 266249

goboobooobooboboobboobbooboooboon

Q=3883870000
P = 510510n + 388387

2P + 1 = 2(510510n + 388387) + 1 = 10210201 + 776774 + 1 = 10210200 + 776775
0000010210200 20 2003,5,7,11,13,17000000 10000000

776775 =3 x5 x 5 x 10357 x 1

oooOo
2P + 1 = 15(68068n + 51785)

oboobooooliboooboboooooboboooboooboobooboboooobOoobOoo
good

Q=3883910000
P =510510n + 388391

2P + 1 = 2(510510n + 388391) 4 1 = 10210201 + 776782 4+ 1 = 10210201 + 776783
0000010210200 20 2003,5,7,11,13,17000000 10000000

776783 = 7 x 110969 x 1

oooo
2P + 1 = 7(145860n + 110969)

ooooooobogovyooooOoooOoobooOoooOOobOo0oDbDOooDbDOoobDbOODOoOoDbboODboO
goo

Q=23883930000
P = 510510n + 388393

2P + 1 =2(510510n + 388393) + 1 = 1021020n + 776786 + 1 = 1021020n + 776787

0000010210200 20 2003,5,7,11,13,17000000 10000000

776787 =3 x 11 x 23539 x 1

oooo
2P + 1 = 33(30940n + 23539)
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Q=388397 0000
P = 510510n + 388397

2P + 1 = 2(510510n + 388397) + 1 = 10210201 + 776794 + 1 = 10210201 + 776795
0000010210200 20 2003,5,7,11,13,17000000 10000000

776795 =5 x 43 x 3613 x 1

oooo
2P + 1 = 5(204204n + 155359)
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Q=1388403 0000
P = 5105100 + 388403

2P 4+ 1 = 2(510510n + 388403) + 1 = 10210200 + 776806 + 1 = 1021020n + 776807
0000010210200 20 2003,5,7,11,13,17000000 1000000

776807 = 79 x 9833 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 266297

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3884110000
P = 5105100 + 388411

2P + 1 =2(510510n + 388411) + 1 = 1021020n + 776822 + 1 = 1021020n + 776823

0000010210200 20 2003,5,7,11,13,17000000 10000000

776823 =3 x 29 x 8929 x 1

oooo
2P + 1 = 3(340340n + 258941)
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goo

Q=13884170000
P = 510510n + 388417

2P 4+ 1 =2(510510n + 388417) + 1 = 1021020n + 776834 + 1 = 1021020n + 776835
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0000010210200 20 2003,5,7,11,13,17000000 10000000

776835 =3 x 3 x5 x 61 x283x1

oooOo
2P + 1 = 15(68068n + 51789)

o0oobOoooibooobooooOooooOoobooob0o0oboOobUoooooboOoobOoo
good

Q=13884200000
P = 510510n + 388429

2P + 1 = 2(510510n + 388429) 4+ 1 = 10210201 + 776858 4+ 1 = 10210201 + 776859
0000010210200 20 2003,5,7,11,13,17000000 10000000

776859 = 3 x 127 x 2039 x 1

oooo
2P + 1 = 3(340340n + 258953)

gooooooOo3soobooooooobo0oOoU0bOoUbDOoUobDOoUobDbOUDOoUobDbOUDoOO
oono

Q=3884390000
P = 510510n + 388439

2P + 1 = 2(510510n + 388439) + 1 = 1021020n + 776878 + 1 = 10210201 + 776879
0000010210200 20 2003,5,7,11,13,17000000 1000000

776879 = 776879 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 266369

goboobooobooboboobboobboobooobooo

Q=388441 0000
P = 510510n + 388441

2P + 1 =2(510510n + 388441) + 1 = 1021020n + 776882 + 1 = 10210201 + 776883
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goooooboo21000b0000ob0booooobo0ooooDOobDOoOoDobDOoboboboOooboo
good
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Q=388747 0000
P = 5105100 -+ 388747

2P + 1 =2(510510n + 388747) + 1 = 1021020n + 777494 + 1 = 1021020n + 777495

0000010210200 20 2003,5,7,11,13,17000000 10000000

777495 =3 x 5 x 17 x 3049 x 1

0000
2P + 1 = 255(4004n + 3049)

OO000o0d0ooOo2s000000000000DOO00DOOU0DOOO0DbDO0O0O0OUODOUODOO
goog

Q=3887530000
P = 510510n + 388753

2P + 1 =2(510510n + 388753) + 1 = 1021020n + 777506 + 1 = 1021020n + 777507

0000010210200 20 2003,5,7,11,13,17000000 10000000

777507 = 3 x 259169 x 1

good
2P + 1 = 3(340340n + 259169)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=1388757 0000
P = 5105100 + 388757

2P 4+ 1 =2(510510n + 388757) + 1 = 1021020n + 777514 + 1 = 1021020n + 777515

0000010210200 20 2003,5,7,11,13,17000000 10000000

777515 =5 x 23 X 6761 x 1

oooo
2P + 1 = 5(204204n + 155503)

goooooo0ds0U0b0O0bOO0ODbOO0OOU0DOU0UDOUODOUODOUODOODOUODOO
oono

Q=3887630000
P = 510510n + 388763

2P 4+ 1 =2(510510n + 388763) + 1 = 1021020n + 777526 + 1 = 1021020n + 777527
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0000010210200 20 2003,5,7,11,13,17000000 1000000

777527 = 281 x 2767 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 267017

goboobooobooboboobboobbooboooboon

Q=388769 0000
P = 510510n + 388769

2P + 1 = 2(510510n + 388769) + 1 = 10210201 + 777538 4+ 1 = 10210201 + 777539
0000010210200 20 2003,5,7,11,13,17000000 10000000

777539 =7 x 277 x 401 x 1

oooOo
2P + 1 = 7(145860n + 111077)

gOoooooogvyooooO0oOoO0oOOoU0OoOoO0DOOU0DOOo0ODOOo0ODOOUODOOoOoDOOUODOoOOd
goo

Q=1388771 0000
P = 5105100 + 388771

2P + 1 = 2(510510n + 388771) 4+ 1 = 10210201 + 777542 4+ 1 = 10210201 + 777543
0000010210200 20 2003,5,7,11,13,17000000 10000000

777543 = 3 x 13 x 19937 x 1

oooo
2P + 1 = 39(26180n + 19937)

ooooooboOo3ooooooob0obooooobooooDoobDOoobDOobDobooboOooo
good

Q=3887770000
P = 5105100 + 388777

2P 4+ 1 =2(510510n + 388777) + 1 = 1021020n + 777554 + 1 = 1021020n + 777555

0000010210200 20 2003,5,7,11,13,17000000 10000000

777555 =3 X 3 x5 x 37 x 467 x 1

oooo
2P + 1 = 15(68068n + 51837)
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obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=1388781 0000
P = 510510n + 388781

2P 4+ 1 =2(510510n + 388781) + 1 = 1021020n + 777562 + 1 = 1021020n + 777563

0000010210200 20 2003,5,7,11,13,17000000 10000000

777563 = 17 x 53 x 863 x 1

oooo
2P + 1 = 17(60060n 4 45739)

o00o0ooO0ooo1vyooob0Oo0o0O0o0obOOoOoo0bO0oo0bOO0o0obO0oOobUobDoOooDbOoboDbOon
good

Q=1388783 0000
P = 510510n + 388783

2P + 1 =2(510510n + 388783) + 1 = 1021020n + 777566 + 1 = 1021020n + 777567

0000010210200 20 2003,5,7,11,13,17000000 10000000

777567 =3 X 7 x 61 x 607 x 1

oooo
2P + 1 = 21(48620n + 37027)

go0odoOoboOo210000000b0bO0obOoU0oo0oOo0oDOobDOo0oDOobDOobooOoboOoooO
good

Q=388789 0000
P = 510510n + 388789

2P + 1 = 2(510510n + 388789) 4+ 1 = 1021020n + 777578 4+ 1 = 10210201 + 777579
0000010210200 20 2003,5,7,11,13,17000000 10000000

777579 = 3 x 11 x 23563 x 1

good
2P + 1 = 33(30940n + 23563)

o0boobooo33booooooooobobooobooobooboobobooooboOoobOoo
googd

Q=3887930000
P = 510510n + 388793
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2P + 1 =2(510510n + 388793) + 1 = 1021020n + 777586 + 1 = 1021020n + 777587

0000010210200 20 2003,5,7,11,13,17000000 1000000

TT7587 = 421 x 1847 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 267077

gboboobogobogoboboobboobooobooooboon

Q=388799 0000
P = 510510n + 388799

2P + 1 = 2(510510n + 388799) 4+ 1 = 10210201 + 777598 + 1 = 10210201 + 777599
0000010210200 20 2003,5,7,11,13,17000000 1000000

777599 = 101 x 7699 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 267089

gbbooggbogoboobbugobboobbooobuoonbagn

Q=13888110000
P = 510510n + 388811

2P + 1 =2(510510n + 388811) + 1 = 1021020n + 777622 + 1 = 1021020n + 777623
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

777623 =7 x 11 x 10099 x 1

good
2P + 1 =77(13260n + 10099)

O000oooOoywooooO0o0ooD0ooo0ooo0oDoooDoooDooDoDooooooooog
good

Q=13888130000
P = 5105100 + 388813

2P + 1 =2(510510n + 388813) + 1 = 1021020n + 777626 + 1 = 1021020n + 777627

0000010210200 20 2003,5,7,11,13,17000000 10000000

777627 =3 x 3 x 3 x 83 x 347 x 1
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oooo
2P + 1 = 3(340340n + 259209)

000000003 000000000000DO000O000OO0DO0ODOO0ODOO0ODO0OO0ODOODOODODn
goo

Q=3888190000
P = 5105100 + 388819

2P + 1 = 2(510510n -+ 388819) + 1 = 1021020 + 777638 + 1 = 10210201 + 777639
0000010210200 20 2003,5,7,11,13,17000000 10000000

777639 = 3 x 259213 x 1

oooo
2P + 1 = 3(340340n + 259213)

o00obOobooo30b0obobooooobobOooOoOobOOobOobDobDobooobOobOoobDOoo
goo

Q=13888230000
P = 510510n + 388823

2P + 1 = 2(510510n + 388823) + 1 = 10210201 + 777646 + 1 = 10210201 + 777647
0000010210200 20 2003,5,7,11,13,17000000 10000000

777647 = 13 x 41 x 1459 x 1

oooo
2P + 1 = 13(78540n + 59819)

oboobooobo3ooooboooooobooobooboOobooboboooobOoobOoo
good

Q=13888310000
P = 510510n + 388831

2P 4+ 1 =2(510510n + 388831) + 1 = 1021020n + 777662 + 1 = 10210201 + 777663

oo000010210200 20 2003,5,7,11,13,17000000 10000000

777663 =3 x 3 x 71 x1217x 1

oooo
2P + 1 = 3(340340n + 259221)

gooooooOo3sooboooooooboU0OoOoU0bOoUDbDOoUobOoUobDbOUDbDOoOobDOoUODoOO
oono
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Q=388837 0000
P = 5105100 + 388837

2P + 1 =2(510510n + 388837) + 1 = 1021020n + 777674 + 1 = 1021020n + 777675

0000010210200 20 2003,5,7,11,13,17000000 10000000

777675 =3 x5 x5 x 10369 x 1

oooo
2P + 1 = 15(68068n + 51845)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
goog

Q=3888470000
P = 510510n + 388847

2P 4+ 1 =2(510510n + 388847) + 1 = 1021020n + 777694 + 1 = 1021020n + 777695

0000010210200 20 2003,5,7,11,13,17000000 10000000

777695 = 5 x 155539 x 1

oooo
2P + 1 = 5(204204n + 155539)

g0obOoboOo0os0b00b0bO0oO0U00bO0ObDOobOUOObO0ObDUObDOobDObOOODbOobDOoDbDOn
goo

Q=1388849 0000
P = 510510n + 388849

2P + 1 =2(510510n + 388849) + 1 = 1021020n + 777698 + 1 = 1021020n + 777699

0000010210200 20 2003,5,7,11,13,17000000 10000000

777699 =3 x 3 x 13 x 17 x 17 x 23 x 1

oooo
2P + 1 = 663(1540n + 1173)

OOo0oOodoOobooes30d0O0OO0OOO0ODOODOODOUODOODOOOOOUODOUODOO
gogo

Q=388853 0000
P = 510510n + 388853

2P + 1 =2(510510n + 388853) + 1 = 1021020n + 777706 + 1 = 1021020n + 777707
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0000010210200 20 2003,5,7,11,13,17000000 10000000

777707 =7 x 241 x 461 x 1

oooo
2P + 1 = 7(145860n + 111101)

O0o0ooooOovyo0o0oO0oOoO0oOoO0oOOoO0DOoO0DOD0o0DOOoO0DOOODOoOOoDOoOODOoOOd
goo

Q=388859 0000
P = 5105100 + 388859

2P + 1 = 2(510510n + 388859) 4+ 1 = 10210201 + 777718 4+ 1 = 10210201 + 777719
0000010210200 20 2003,5,7,11,13,17000000 1000000

777719 = 167 x 4657 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 267209

gboboobogobooboboobboobbooobuoonooboon

Q =3888670000O
P = 510510n + 388867

2P + 1 = 2(510510n + 388867) + 1 = 10210201 + 777734 + 1 = 10210200 + 777735
0000010210200 20 2003,5,7,11,13,17000000 10000000

77735 =3 x3x3xHxT7Tx823x1

oooo
2P + 1 = 105(9724n + 7407)

gooooobooles0oboOoOoO0O0oOOoO0oDOoO0oDOOODObOObDOO0OO0OO0OODOODOO
good

Q=3888730000
P = 510510n + 388873

2P + 1 =2(510510n + 388873) + 1 = 1021020n + 777746 + 1 = 1021020n + 777747

0000010210200 20 2003,5,7,11,13,17000000 10000000

TI7747 =3 x 131 x 1979 x 1

oooo
2P + 1 = 3(340340n + 259249)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=388877 0000
P = 510510n + 388877

2P + 1 = 2(510510n + 388877) + 1 = 10210201 + 777754 + 1 = 10210200 + 777755
0000010210200 20 2003,5,7,11,13,17000000 10000000

777755 =5 x 11 x 79 x 179 x 1

oooo
2P + 1 = 55(18564n + 14141)

O000000O0Os0O00bb00ob0oobOboob0b00oo0bO0o0ob0o0obUobDooDbOobODbOon
good

Q=388879 0000
P = 5105100 + 388879

2P 4+ 1 = 2(510510n + 388879) + 1 = 10210201 4 777758 + 1 = 1021020n + 777759
0000010210200 20 2003,5,7,11,13,17000000 10000000

777759 = 3 x 31 x 8363 x 1

good
2P + 1 = 3(340340n + 259253)

obooboobooo3oboboooooobooboooobobobooboooboobOobooooo
goo

Q=2388889 0000
P = 510510n + 388889

2P + 1 = 2(510510n + 388889) + 1 = 10210201 + 777778 4+ 1 = 10210200 + 777779
0000010210200 20 2003,5,7,11,13,17000000 1000000
777779 = 113 x 6883 x 1
0000 10210200000000000000
2P + 1 = 510510m + 267269

gbooboobooobooboboobboobboooboooboon

Q=1388801 0000
P = 510510n + 388891

2P 4+ 1 =2(510510n + 388891) + 1 = 1021020n + 777782 + 1 = 1021020n + 777783
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0000010210200 20 2003,5,7,11,13,17000000 10000000

777783 =3 x 107 x 2423 x 1

oooo
2P + 1 = 3(340340n + 259261)

booboooo3obobobooooobobooooboboboobDobooobUobOobooo
goo

Q =388897 0000
P = 510510n + 388897

2P + 1 = 2(510510n + 388897) + 1 = 10210201 + 777794 + 1 = 10210200 + 777795
0000010210200 20 2003,5,7,11,13,17000000 10000000

777795 =3 x 5 x 51853 x 1

oooo
2P + 1 = 15(68068n + 51853)

goooooboOobhoobooooobOobooooUooooooDOobDOoOoDOobDOoboooboOooo
good

Q=3889010000
P = 510510n + 388901

2P 4+ 1 =2(510510n + 388901) + 1 = 1021020n + 777802 + 1 = 1021020n + 777803
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

777803 = 13 x 19 x 47 x 67 x 1

oooO
2P + 1 = 13(78540n + 59831)

oboobooobooooooooooboboooboooboobooboboooobOoobOoo
goog

Q =3889030000
P = 510510n + 388903

2P + 1 =2(510510n + 388903) + 1 = 1021020n + 777806 + 1 = 1021020n + 777807

0000010210200 20 2003,5,7,11,13,17000000 10000000

777807 = 3 x 3 x 86423 x 1

oooo
2P + 1 = 3(340340n + 259269)

168



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=388007 0000
P = 510510n + 388907

2P + 1 =2(510510n + 388907) + 1 = 1021020n + 777814 + 1 = 1021020n + 777815
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

777815 =5 x 73 x 2131 x 1

oooo
2P + 1 = 5(204204n + 155563)

O00b0o0O00sS000000000000DODOO0OODOO0ODODOODODODOOODODODOD
goo

Q=13889190000
P = 510510n + 388919

2P + 1 = 2(510510n + 388919) + 1 = 1021020n + 777838 + 1 = 1021020n + 777839
0000010210200 20 2003,5,7,11,13,17000000 1000000

777839 = 777839 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 267329

gboobgobogoobogbooboobbooboooboooboon

Q=1388031 0000
P = 510510n + 388931

2P + 1 = 2(510510n + 388931) 4 1 = 10210201 + 777862 4+ 1 = 10210201 + 777863
0000010210200 20 2003,5,7,11,13,17000000 1000000
777863 = 777863 x 1
0000 10210200000000000000
2P +1 = 510510m + 267353

gbobogobooobooboboobboobbooobuooooboon

Q=23889330000
P = 510510 + 388933

2P 4+ 1 =2(510510n + 388933) + 1 = 1021020n + 777866 + 1 = 1021020n + 777867
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0000010210200 20 2003,5,7,11,13,17000000 10000000

TT7867 =3 x 29 x 8941 x 1

oooo
2P + 1 = 3(340340n + 259289)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q =3889370000O
P = 510510n + 388937

2P + 1 = 2(510510n + 388937) + 1 = 10210200 + 777874 + 1 = 10210200 + 777875
0000010210200 20 2003,5,7,11,13,17000000 10000000

TT787T5 =5 X5 XxhxXxT7TxT7Tx127 x 1

oooo
2P + 1 = 35(29172n + 22225)

gooOooOooboOosoobobooooboboooooboooooDobDooDobDOoboooboooboo
good

Q=23889390000
P = 510510n + 388939

2P 4+ 1 =2(510510n + 388939) + 1 = 1021020n + 777878 + 1 = 1021020n + 777879
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

777879 =3 x 3 x 19 x 4549 x 1

oooo
2P + 1 = 3(340340n + 259293)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=388051 0000
P = 510510n + 388951

2P 4+ 1 =2(510510n + 388951) + 1 = 1021020n + 777902 + 1 = 1021020n + 777903

0000010210200 20 2003,5,7,11,13,17000000 10000000

777903 =3 x 7 x 17 x 2179 x 1

oooo
2P + 1 = 357(2860n + 2179)
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OO00Oo0oOooOo3rogobodooooooobooooodooobo0ooooooDoooDoog
goog

Q=2388057 0000
P = 510510n + 388957

2P + 1 = 2(510510n + 388957) 4+ 1 = 10210201 + 777914 + 1 = 10210200 + 777915
0000010210200 20 2003,5,7,11,13,17000000 10000000

777915 =3 x 3 x5 xH9x 293 x 1

oooo
2P + 1 = 15(68068n + 51861)

o00o0obO0ooobooobooobOoooOoooObO0ooDOO0o0obO0oOobUobDoooDbOoboDbOoo
good

Q=13880610000
P = 510510n + 388961

2P 4+ 1 = 2(510510n + 388961) 4+ 1 = 10210200 4 777922 + 1 = 1021020n + 777923
0000010210200 20 2003,5,7,11,13,17000000 1000000

777923 = 881 x 883 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 267413

gbbooggbogoboobbugobboobbooobuoonbagn

Q=23889630000
P = 510510n + 388963

2P 4+ 1 =2(510510n + 388963) + 1 = 10210201 + 777926 + 1 = 1021020n + 777927

0000010210200 20 2003,5,7,11,13,17000000 10000000

777927 = 3 x 259309 x 1

oooo
2P + 1 = 3(340340n + 259309)

O00b0o0O0o03000b0000000b00oDbO0ooOoO0bO0obO0oDOOobDOoO0oobOoDbDOoDOn
goo

Q=388067 0000
P = 5105100 + 388967

2P 4+ 1 =2(510510n + 388967) + 1 = 1021020n + 777934 + 1 = 1021020n + 777935
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0000010210200 20 2003,5,7,11,13,17000000 10000000

777935 =5 x 157 x 991 x 1

oooo
2P + 1 = 5(204204n + 155587)

oboobOoooosOb0obOobOUobObo0obO0obOobOUobObOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=388979 0000
P = 510510n + 388979

2P + 1 = 2(510510n + 388979) + 1 = 10210201 + 777958 + 1 = 10210201 + 777959
0000010210200 20 2003,5,7,11,13,17000000 10000000

777959 =7 x 13 x 83 x 103 x 1

oooo
2P +1 =91(11220n + 8549)

goooooboOo9lboobooOooUob0oboOooU0oOoUoOoOoDOobDOoOoDOobDOobobOboOooo
good

Q=388981 0000
P = 510510n + 388981

2P 4+ 1 =2(510510n + 388981) + 1 = 1021020n + 777962 + 1 = 10210201 + 777963
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

777963 = 3 x 259321 x 1

oooo
2P + 1 = 3(340340n + 259321)

ooobOobooo3oboboboooooboboooobobobDobDobooobOobOobDoo
goo

Q =388987 0000
P = 510510n + 388987

2P 4+ 1 =2(510510n + 388987) + 1 = 1021020n + 777974 + 1 = 1021020n + 777975

0000010210200 20 2003,5,7,11,13,17000000 10000000

777975 =3 x5 xHx11 x23x41 x1

oooo
2P + 1 = 165(6188n + 4715)
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OOo0oOod0oboOoles0d0OOO00OO0O0ODOO0ODOUODOOUODOODbDO0O0OOOUODOUODOO
goog

Q=3889910000
P = 510510n + 388991

2P + 1 = 2(510510n + 388991) + 1 = 10210201 + 777982 + 1 = 10210201 + 777983
0000010210200 20 2003,5,7,11,13,17000000 1000000

777983 =29 x 139 x 193 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 267473

oooboobooobooboboobboobboobooobooo

Q =13890030000
P = 510510n + 389003

2P + 1 = 2(510510n + 389003) + 1 = 10210201 + 778006 + 1 = 10210201 + 778007
0000010210200 20 2003,5,7,11,13,17000000 1000000

778007 = 31 x 25097 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 267497

goboobooobooboboobboobbooboooboon

Q =389009 0000
P = 510510 + 389009

2P 4+ 1 =2(510510n + 389009) + 1 = 1021020n + 778018 + 1 = 10210201 + 778019

0000010210200 20 2003,5,7,11,13,17000000 10000000

778019 = 11 x 70729 x 1

oooo
2P + 1 =11(92820n + 70729)

oooobooobolooooboooooboboooboob0oobUooboboooobOoobOoo
good

Q=3890170000
P = 5105101 + 389017

2P 4+ 1 =2(510510n + 389017) 4+ 1 = 1021020n + 778034 + 1 = 1021020n + 778035
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0000010210200 20 2003,5,7,11,13,17000000 10000000

778035 = 3 x 5 x 51869 x 1

oooo
2P + 1 = 15(68068n + 51869)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=1380021 0000
P = 510510n + 389021

2P + 1 = 2(510510n + 389021) 4 1 = 10210201 + 778042 + 1 = 10210201 + 778043
0000010210200 20 2003,5,7,11,13,17000000 10000000

778043 =7 x 111149 x 1

oooo
2P + 1 =7(145860n + 111149)

goooooobogvyooooOoooOoobooOoOOoO0bOo0obDOoOoDOoOobDOUDOOobDbOUODboOO
goo

Q=3890230000
P = 510510n + 389023

2P 4+ 1 =2(510510n + 389023) + 1 = 10210201 + 778046 + 1 = 1021020n + 778047
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

778047 = 3 x 223 x 1163 x 1

oooo
2P + 1 = 3(340340n + 259349)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=380027 0000
P = 5105100 -+ 389027

2P 4+ 1 =2(510510n + 389027) 4+ 1 = 1021020n + 778054 + 1 = 1021020n + 778055

0000010210200 20 2003,5,7,11,13,17000000 10000000

778055 = 5 x 61 x 2551 x 1

oooo
2P + 1 = 5(204204n + 155611)
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gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=3890200000
P = 510510n + 389029

2P + 1 = 2(510510n + 389029) 4 1 = 10210201 + 778058 + 1 = 10210201 + 778059
0000010210200 20 2003,5,7,11,13,17000000 10000000

778059 = 3 x 3 x 3 x 28817 x 1

oooo
2P + 1 = 3(340340n + 259353)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=3800330000
P = 5105100 + 389033

2P 4+ 1 = 2(510510n + 389033) + 1 = 10210200 + 778066 + 1 = 10210200 + 778067
0000010210200 20 2003,5,7,11,13,17000000 1000000
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Q=2389639 0000
P = 510510n + 389639

2P 4+ 1 =2(510510n + 389639) + 1 = 1021020n + 779278 + 1 = 1021020n + 779279

206



0000010210200 20 2003,5,7,11,13,17000000 1000000

779279 = 509 x 15631 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 268769

goboobooobooboboobboobbooboooboon

Q=3896470000
P = 510510n -+ 389647

2P + 1 = 2(510510n + 389647) 4+ 1 = 10210201 + 779294 + 1 = 10210201 + 779295
0000010210200 20 2003,5,7,11,13,17000000 10000000

779295 =3 x 5 x 11 x 4723 x 1

oooo
2P + 1 = 165(6188n + 4723)

oboobobgoolesoboooooooboobobobooboobooobOobUobUoboooOoooo
good

Q =3896510000
P =510510n + 389651

2P + 1 = 2(510510n + 389651) 4 1 = 10210201 + 779302 4+ 1 = 10210201 + 779303
0000010210200 20 2003,5,7,11,13,17000000 10000000

779303 = 7 x 163 x 683 x 1

oooo
2P + 1 = 7(145860n + 111329)

ooooooobogovyooooOoooOoobooOoooOOobOo0oDbDOooDbDOoobDbOODOoOoDbboODboO
goo

Q=389659 0000
P = 510510n + 389659

2P 4+ 1 =2(510510n + 389659) + 1 = 1021020n + 779318 + 1 = 10210201 + 779319

0000010210200 20 2003,5,7,11,13,17000000 10000000

779319 = 3 x 3 x 131 x 661 x 1

oooo
2P + 1 = 3(340340n + 259773)
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Q=13896630000
P = 510510n + 389663

2P + 1 = 2(510510n + 389663) + 1 = 10210201 4 779326 + 1 = 10210200 + 779327
0000010210200 20 2003,5,7,11,13,17000000 1000000

779327 = 779327 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 268817

gbooboobooobooboboobboobboooboooboon

Q=13896710000
P = 510510n + 389671

2P 4+ 1 =2(510510n + 389671) + 1 = 1021020n + 779342 + 1 = 1021020n + 779343

0000010210200 20 2003,5,7,11,13,17000000 10000000

779343 = 3 x 259781 x 1

good
2P + 1 = 3(340340n + 259781)

gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=3806770000
P = 510510n + 389677

2P 4+ 1 =2(510510n + 389677) + 1 = 1021020n + 779354 + 1 = 10210201 + 779355

0000010210200 20 2003,5,7,11,13,17000000 10000000

779355 =3 x 3 X I xHx23x251x1

oooo
2P + 1 = 15(68068n + 51957)

O0000O0o0oo1booobooobO0oooOoooOoOo0oo0obO0o0obOO0o0obOobDoOooDbOOooODbOoo
good

Q=389681 0000
P = 510510n + 389681

2P 4+ 1 =2(510510n + 389681) + 1 = 1021020n + 779362 + 1 = 10210201 + 779363
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0000010210200 20 2003,5,7,11,13,17000000 10000000

779363 = 13 x 59951 x 1

oooo
2P + 1 = 13(78540n + 59951)

obooboooboyooooboooooboboooboooboobooboboooobOoobOoo
good

Q =389687 0000
P = 510510n + 389687

2P + 1 = 2(510510n + 389687) + 1 = 10210201 + 779374 + 1 = 10210201 + 779375
0000010210200 20 2003,5,7,11,13,17000000 10000000

779375 =5 x5 x5 x5Hx29x43 x 1

oooo
2P + 1 = 5(204204n + 155875)

oooooooOds0U0bO0oO0bOOO0bOO0bOOO0DbDO0ODbDOODOODOODOODOUODOO
goo

Q=380689 0000
P = 510510n + 389689

2P 4+ 1 =2(510510n + 389689) + 1 = 1021020n + 779378 + 1 = 10210201 + 779379
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

779379 = 3 x 239 x 1087 x 1

oooo
2P + 1 = 3(340340n + 259793)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q =3896930000
P = 510510n + 389693

2P + 1 =2(510510n + 389693) + 1 = 10210201 + 779386 + 1 = 1021020n + 779387

0000010210200 20 2003,5,7,11,13,17000000 10000000

779387 =7 x 111341 x 1

oooo
2P + 1 = 7(145860n + 111341)
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Q=2389699 0000
P = 510510n + 389699

2P 4+ 1 =2(510510n + 389699) + 1 = 1021020n + 779398 + 1 = 1021020n + 779399

0000010210200 20 2003,5,7,11,13,17000000 10000000

779399 =17 x 19 x 19 x 127 x 1

oooo
2P + 1 = 17(60060n + 45847)

o00o0ooO0oobo1vooob00o0ob0O0o0obOOoOoo0bO0oo0DbOO0o0obO0oOobUobDoOooDbOoboDbOoon
good

Q=380707 0000
P = 5105101 -+ 389707

2P 4+ 1 =2(510510n + 389707) + 1 = 1021020n + 779414 + 1 = 1021020n + 779415

0000010210200 20 2003,5,7,11,13,17000000 10000000

779415 =3 x5 x 7x 13 x 571 x 1

oooo
2P + 1 = 1365(748n + 571)

OO00o0dDbO0OO0O1e 0000 o0o0ooooooob0booobooooUoOoOoDOoboooog
googn

Q=3897130000
P = 510510n + 389713

2P + 1 = 2(510510n + 389713) + 1 = 10210201 + 779426 + 1 = 10210200 + 779427
0000010210200 20 2003,5,7,11,13,17000000 10000000

779427 =3 x 3 x 11 x 7873 x 1

good
2P + 1 = 33(30940n + 23619)

o0boobooo33boooooooooboboooboooboobooboboDoooboOoobOoo
good

Q=13807170000
P = 5105100 -+ 389717
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2P + 1 =2(510510n 4 389717) + 1 = 1021020n + 779434 + 1 = 1021020n + 779435

0000010210200 20 2003,5,7,11,13,17000000 10000000

779435 = 5 x 155887 x 1

oooo
2P + 1 = 5(204204n + 155887)

gboboobooosOobobobooobooboboboobobOobobDobDobobOoOobOobOoboOoo
goo

Q=3897230000
P = 510510n + 389723

2P + 1 = 2(510510n + 389723) + 1 = 10210201 + 779446 + 1 = 10210200 + 779447
0000010210200 20 2003,5,7,11,13,17000000 1000000

779447 = 23 x 33889 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 268937

goboobooobooboboobboobboobuoooboon

Q=3897200000
P = 510510n + 389729

2P + 1 = 2(510510n + 389729) + 1 = 10210201 + 779458 + 1 = 10210201 + 779459
0000010210200 20 2003,5,7,11,13,17000000 1000000
779459 = 109 x 7151 x 1
0000 10210200000000000000
2P + 1 = 510510m + 268949

gbooboobooobooboboobboobboooboooboon

Q=13897310000
P = 510510n + 389731

2P + 1 =2(510510n + 389731) + 1 = 1021020n + 779462 + 1 = 1021020n + 779463

0000010210200 20 2003,5,7,11,13,17000000 10000000

779463 =3 x 3 x 3 x3x9623 x 1
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2P + 1 = 3(340340n + 259821)
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goo

Q=3897370000
P = 510510n + 389737

2P + 1 = 2(510510n + 389737) + 1 = 1021020 + 779474 + 1 = 1021020n + 779475
0000010210200 20 2003,5,7,11,13,17000000 10000000

779475 =3 x5 x5 x 19 x 547 x 1

oooo
2P + 1 = 15(68068n + 51965)

o0boooOooolbooobooooOoobobooobooobDOo0oboOobUoboDooobOoobOoo
good

Q=13897430000
P = 510510n + 389743

2P + 1 = 2(510510n + 389743) + 1 = 10210201 + 779486 + 1 = 10210201 + 779487
0000010210200 20 2003,5,7,11,13,17000000 10000000

779487 = 3 x 259829 x 1

oooo
2P + 1 = 3(340340n + 259829)

obooboobooo3oboboboooooboobooooboboboobooobooboboooo
goo

Q=3897470000
P = 510510n + 389747

2P 4+ 1 =2(510510n + 389747) + 1 = 1021020n + 779494 + 1 = 1021020n + 779495

oo000010210200 20 2003,5,7,11,13,17000000 10000000

779495 =5 x 31 x 47 x 107 x 1

oooo
2P + 1 = 5(204204n + 155899)

gboobobooosOobobobooobo0obOobDoboobobOobUobDobDobobOOobOobOobooo
oono
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Q=1380749 0000
P = 5105100 + 389749

2P + 1 = 2(510510n + 389749) 4 1 = 10210201 4 779498 + 1 = 10210201 + 779499
0000010210200 20 2003,5,7,11,13,17000000 10000000

779499 = 3 x 3 x 7 x 12373 x 1

oooo
2P + 1 = 21(48620n + 37119)
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Q=3897610000
P = 510510n + 389761

2P + 1 = 2(510510n + 389761) + 1 = 10210201 + 779522 + 1 = 10210201 + 779523
0000010210200 20 2003,5,7,11,13,17000000 10000000

779523 = 3 x 259841 x 1

oooo
2P + 1 = 3(340340n + 259841)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=13897710000
P = 510510n + 389771

2P + 1 = 2(510510n + 389771) 4+ 1 = 10210201 + 779542 4+ 1 = 10210201 + 779543
0000010210200 20 2003,5,7,11,13,17000000 1000000
779543 = 779543 x 1
0000 10210200000000000000
2P + 1 = 510510m + 269033

gbobogobooobooboboobboobbooobuooooboon

Q=3897730000
P = 510510n + 389773

2P 4+ 1 =2(510510n + 389773) + 1 = 10210201 + 779546 + 1 = 1021020n + 779547
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0000010210200 20 2003,5,7,11,13,17000000 10000000

779547 = 3 x 43 x 6043 x 1

oooo
2P + 1 = 3(340340n + 259849)

oooooooob3soooooobooboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=3897770000O
P = 510510n + 389777

2P 4+ 1 = 2(510510n + 389777) + 1 = 10210200 + 779554 + 1 = 10210200 + 779555
0000010210200 20 2003,5,7,11,13,17000000 10000000

779555 =5 x 7 x 22273 x 1

oooo
2P + 1 = 35(29172n + 22273)

obooboooosboogbobooboooboboooboobooboobobooooboOoobOoo
goog

Q=389783 0000
P = 510510n + 389783

2P + 1 = 2(510510n + 389783) + 1 = 10210201 4 779566 + 1 = 10210201 + 779567
0000010210200 20 2003,5,7,11,13,17000000 1000000
779567 = 59 x 73 x 181 x 1
0000 10210200000000000000
2P + 1 = 510510m + 269057

gboboobooobooboboobboobbooboooboon

Q=389789 0000
P = 510510 + 389789

2P 4+ 1 =2(510510n + 389789) + 1 = 1021020n + 779578 + 1 = 1021020n + 779579

0000010210200 20 2003,5,7,11,13,17000000 1000000

779579 = 779579 x 1

OO000 10210200 000000000000

2P 4+ 1 = 510510m + 269069
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gboboobogobogoboboobboobooobooooboon

Q=1380791 0000
P = 5105100 + 389791

2P + 1 =2(510510n + 389791) + 1 = 1021020n + 779582 + 1 = 1021020n + 779583

0000010210200 20 2003,5,7,11,13,17000000 10000000

779583 =3 x 7 x 37123 x 1

oooo
2P + 1 = 21(48620n + 37123)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=389797 0000
P = 510510n + 389797

2P 4+ 1 =2(510510n + 389797) + 1 = 1021020n + 779594 + 1 = 10210201 + 779595

0000010210200 20 2003,5,7,11,13,17000000 10000000

779595 = 3 x 5 x 51973 x 1

oooo
2P + 1 = 15(68068n + 51973)

oooooooolibooooboooooboboooboobooboobooooobOooboo
good

Q=3898010000
P = 510510n + 389801

2P 4+ 1 =2(510510n + 389801) + 1 = 1021020n + 779602 + 1 = 10210201 + 779603

0000010210200 20 2003,5,7,11,13,17000000 10000000

779603 =11 x 11 x 17 x 379 x 1

oooo
2P + 1 = 187(5460n + 4169)

oooooooowsvyoooooooooobooooooooobooboooooooooobobbOooo
oooo

Q =3898030000
P = 510510n + 389803

2P 4+ 1 =2(510510n + 389803) + 1 = 10210201 + 779606 + 1 = 1021020n + 779607
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0000010210200 20 2003,5,7,11,13,17000000 10000000

779607 =3 x 3 x 29 x 29 x 103 x 1

good
2P + 1 = 3(340340n + 259869)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=13898130000
P = 510510n + 389813

2P + 1 = 2(510510n + 389813) + 1 = 10210201 4 779626 + 1 = 10210200 + 779627
0000010210200 20 2003,5,7,11,13,17000000 1000000

779627 = 19 x 37 x 1109 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 269117

gboboobogobooboboobboobbooobuoonooboon

Q=3898190000
P = 510510n + 389819

2P + 1 = 2(510510n + 389819) 4 1 = 10210201 + 779638 + 1 = 10210201 4 779639
0000010210200 20 2003,5,7,11,13,17000000 10000000

779639 =7 X 7 x7x 2273 x 1

oooo
2P + 1 = 7(145860n + 111377)

ooooooobogovyoooooooOoooOoooOoboO0oDbOooDbDOoobbOODOoOobDboODboO
goo

Q=3898210000
P = 510510n + 389821

2P + 1 =2(510510n + 389821) + 1 = 1021020n + 779642 + 1 = 1021020n + 779643

0000010210200 20 2003,5,7,11,13,17000000 10000000

779643 = 3 x 3 x 86627 x 1

oooo
2P + 1 = 3(340340n + 259881)
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Q=23898330000
P = 510510n + 389833

2P + 1 = 2(510510n + 389833) + 1 = 10210201 4 779666 + 1 = 10210201 + 779667
0000010210200 20 2003,5,7,11,13,17000000 10000000

779667 = 3 x 7 x 137 x 271 x 1

oooo
2P + 1 = 21(48620n + 37127)

O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=380839 0000
P = 5105100 + 389839

2P 4+ 1 = 2(510510n + 389839) + 1 = 10210201 4 779678 + 1 = 1021020n + 779679
0000010210200 20 2003,5,7,11,13,17000000 10000000

779679 =3 x 3 x 3 x 67 x431 x1

good
2P + 1 = 3(340340n + 259893)

obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q=3898430000
P = 510510n + 389843

2P + 1 = 2(510510n + 389843) + 1 = 10210201 + 779686 + 1 = 10210201 + 779687
0000010210200 20 2003,5,7,11,13,17000000 1000000
779687 = 487 x 1601 x 1
0000 10210200000000000000
2P + 1 = 510510m + 269177

gbooboobooobooboboobboobboooboooboon

Q=1389849 0000
P = 510510n + 389849

2P 4+ 1 =2(510510n + 389849) + 1 = 10210201 + 779698 + 1 = 10210201 + 779699
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0000010210200 20 2003,5,7,11,13,17000000 1000000

779699 = 779699 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 269189

goboobooobooboboobboobbooboooboon

Q=13898630000
P = 510510n + 389863

2P + 1 = 2(510510n + 389863) + 1 = 10210201 + 779726 + 1 = 10210200 + 779727
0000010210200 20 2003,5,7,11,13,17000000 10000000

779727 =3 x 13 x 19993 x 1

oooOo
2P + 1 = 39(26180n + 19993)

obooboooo3ooooooooobobooobooboobooboboooobOoobOoo
good

Q =3898670000
P = 510510n + 389867

2P + 1 = 2(510510n + 389867) 4+ 1 = 10210201 4 779734 + 1 = 10210200 + 779735
0000010210200 20 2003,5,7,11,13,17000000 10000000

779735 =5 x 11 x 14177 x 1

oooo
2P + 1 = 55(18564n + 14177)

OOo0oOoDOooOsoobboooob0oboooooooooDoobDooDoDobDoboooboOooo
good

Q=2389869 0000
P = 510510n + 389869

2P 4+ 1 =2(510510n + 389869) + 1 = 1021020n + 779738 + 1 = 1021020n + 779739

0000010210200 20 2003,5,7,11,13,17000000 10000000

779739 = 3 x 17 x 15289 x 1

oooo
2P + 1 = 51(20020n + 15289)
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goog

Q=389881 0000
P = 510510n + 389881

2P + 1 = 2(510510n + 389881) 4 1 = 10210201 4 779762 + 1 = 10210201 + 779763
0000010210200 20 2003,5,7,11,13,17000000 10000000

779763 = 3 x 61 x 4261 x 1

oooo
2P + 1 = 3(340340n + 259921)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=380887 0000
P = 5105100 + 389887

2P 4+ 1 = 2(510510n + 389887) + 1 = 10210200 + 779774 + 1 = 10210200 + 779775
0000010210200 20 2003,5,7,11,13,17000000 10000000

779775 =3 x5 xHx37Tx281 x1

oooOo
2P + 1 = 15(68068n + 51985)

ooooooooiboooobooooobobooobooboobooboboooobOoobOoo
good

Q=3898910000
P = 510510 + 389891

2P + 1 = 2(510510n + 389891) 4 1 = 10210201 + 779782 + 1 = 10210201 + 779783
0000010210200 20 2003,5,7,11,13,17000000 1000000
779783 = 97 x 8039 x 1
0000 10210200000000000000
2P + 1 = 510510m + 269273

gbooboobooobooboboobboobboooboooboon

Q=380897 0000
P = 5105100 + 389897

2P 4+ 1 =2(510510n + 389897) + 1 = 1021020n + 779794 + 1 = 1021020n + 779795
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0000010210200 20 2003,5,7,11,13,17000000 10000000

779795 =5 x 263 x 593 x 1

oooo
2P + 1 = 5(204204n + 155959)

oboobOoooosOb0obOobOUobObo0obO0obOobOUobObOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=389899 0000
P = 510510n + 389899

2P + 1 = 2(510510n + 389899) + 1 = 10210201 + 779798 + 1 = 10210201 + 779799
0000010210200 20 2003,5,7,11,13,17000000 10000000

779799 = 3 x 259933 x 1

oooo
2P + 1 = 3(340340n + 259933)

gooooooo3sooooooooobooooo0bOo0obOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=13899030000
P = 510510n + 389903

2P 4+ 1 =2(510510n + 389903) + 1 = 10210201 + 779806 + 1 = 1021020n + 779807
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

779807 =7 x 17 x 6553 x 1

oooo
2P 4+ 1 =119(8580n + 6553)

ooobobobolyooooooooooboboboOooooUoobobUobUoboooooo
googd

Q=1380911 0000
P = 5105100 + 389911

2P + 1 =2(510510n + 389911) + 1 = 1021020n + 779822 + 1 = 1021020n + 779823

0000010210200 20 2003,5,7,11,13,17000000 10000000

779823 =3 x 3 x 11 x 7877 x 1

oooo
2P + 1 = 33(30940n + 23631)
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Q=3899230000
P = 510510n + 389923

2P + 1 =2(510510n + 389923) + 1 = 10210201 + 779846 + 1 = 1021020n + 779847

0000010210200 20 2003,5,7,11,13,17000000 10000000

779847 = 3 x 259949 x 1

oooo
2P + 1 = 3(340340n + 259949)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=13899270000
P = 510510n + 389927

2P 4+ 1 =2(510510n + 389927) + 1 = 1021020n + 779854 + 1 = 1021020n + 779855

0000010210200 20 2003,5,7,11,13,17000000 10000000

779855 =5 x 19 x 8209 x 1

oooo
2P + 1 = 5(204204n + 155971)

goooooo0ds0U0bO00bOO0ObOO0OO0ODOU0UDOODOUODOUODOUODOUODOO
ooo

Q=23899330000
P = 510510n + 389933

2P + 1 = 2(510510n + 389933) + 1 = 10210201 + 779866 + 1 = 10210201 + 779867
0000010210200 20 2003,5,7,11,13,17000000 10000000

779867 = 11 x 31 x 2287 x 1

oooo
2P + 1 = 11(92820n + 70897)

oboobOooobolnoooooobooobObooobooobOo0oboobUobDoooDbOoobOoo
good

Q=1380041 0000
P = 5105100 + 389941
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2P + 1 =2(510510n + 389941) + 1 = 1021020n + 779882 + 1 = 1021020n + 779883

0000010210200 20 2003,5,7,11,13,17000000 10000000

779883 = 3 x 13 x 19997 x 1

oooo
2P + 1 = 39(26180n + 19997)
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goog

Q=3899470000
P = 5105100 + 389947

2P + 1 = 2(510510n + 389947) + 1 = 10210201 + 779894 + 1 = 10210201 + 779895
0000010210200 20 2003,5,7,11,13,17000000 10000000

779895 =3 x3 x3 xHx53x109 x1

oooOo
2P + 1 = 15(68068n + 51993)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOoboDbOoo
good

Q=1389951 0000
P = 510510n + 389951

2P + 1 = 2(510510n + 389951) 4+ 1 = 10210201 + 779902 + 1 = 10210201 + 779903
0000010210200 20 2003,5,7,11,13,17000000 1000000
779903 = 179 x 4357 x 1
0000 10210200000000000000
2P + 1 = 510510m + 269393
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